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1. = fou e fom A, sawen (2) # gwiv MU AR, Tged A wd B e g w9 @ fawanr ot ) afe wm
T (3) W 5= &g foream i Teht Sar @ aff —————

In the diagram shown below, material A and B expand freely as shown in condition (2). If
expansion is prevented to reach equilibrium condition (3), then

Material A

' Linitial position

4 Material B

2) Free expansion
due to temperature

33 Expansion prevented
for equilibrium

e A B ST S

(a) ugd B gra uere A W STel TR G99 e, A g0 B T ST U q9 o % @9 & / Tensile force
exerted by material B on A is equal to tensile force exerted by A on B

(b) ueef B g1 yeid A W STl T TiEE 9, A g1 B W I T GEE oo & g4@ 2 / Tensile
force exerted by material B on A is equal to compressive force exerted by A on B

(c) e B g U A W STl TN EHies 9o, A g0 B W B T @9 & & @9F & /
Compressive force exerted by material B on A is equal to tensile force exerted by A on B

(d) G oTaFdm ® Wiy YeE W HIE o U9E T8 srerar / No force acts on the composite
member in equilibrium condition

2.  T=fafea am § @S- 9= Tad 22

Which of the following statements is wrong?

(a) TG % ITUR gd TF TF H FS HT IF@T g1 § / The heat transfer in liquid and gases
takes place according to convection

(b) Tt fis @ o1 wang i #en, fus o verd @ w97 8, 39 w st &t & / The amount of heat
flow through a body is dependent upon the material of the body

(¢) UIUHN % Wgt ¥ 3 urg H I =eAwar o it &/ The thermal conductivity of solid
metals increases with rise in temperature

(d)  TUIRR WTET QIO T ST, THTGT AIET A9HM % 3Hal & @9 T8l &n / Logarithmic mean
temperature difference is not equal to the arithmetic mean temperature difference

TA-01 3 March 2020
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R =rd |, smgar ARt 2 uits St 2l

In a psychrometric chart, the humidification process is represented by

(a)  Sedler @ / Vertical line (b) = @ / Inclined line
(c) "wdeE W@ / Horizontal line (d) <k @@ / Curved line

frffaa § & s - 27
Which of the following is dimensionless?
(a) Tafsre wr / Specific weight (b) fafdre f / Specific speed

(¢ Tafdre e / Specific gravity (d) fafere smae / Specific volume

ﬁﬂ%@ﬁgﬁﬁﬁﬁawﬁaﬁmuﬁq%w%?
In which of the following views, the picture plane is the same as the plane of projection?
(a) Tl 7@ / Oblique view (b) @eRvia g¥ / Orthographic view

(c)  ®edl gva / Perspective view (d) Tt gwa / Pictorial view

et & | FH-T1 T 59 F T 3T @ 7
Which of the following statements is applicable to liquids?
(a) 33 % wdifsa T fan s et / Liquids cannot be compressed

(b) 5 %1 37ReA ffia g @ / Liquids occupy definite volume

(©) 7d W T T qoHE # aiEd o % wwr T8 v / Liquids are not affected by change in

pressure and temperature

(d) 3 ¥ FE T / None of the above

ﬁm%ﬁaaﬁ%aﬁq—ﬁuma@aﬁ“rmﬂﬂiﬁﬁ;wﬁmﬂm%?
Which of the following cycle uses air as the refrigerant?
(a) @AE / Carnot (b) wfdm / Sterling

(c)  uf@Ed / Ericsson (d) Sd-Hiad / Bell - Coleman

4 March 2020
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g. =4 frmd gam fom = 87
Which of the following do not have identical dimensions?
(a)  EaT U AT / Momentum and impulse

(b) =1 1 meYl U hivfg G / Moment of a force and angular momentum
(c) Tifaw St ud fawa =t / Kinetic energy and potential energy
(d) o el w9 e / Torque and energy

9.  wHRIfET H g 61w 2l
The purpose of riser in casting is to

(a) S RTF ITET WA W =1 Rl WO K1 / Feed the casting at a rate consistent with the
rate of solidification

(b) fuueh ag & fow Wsr 1 %@ FE0 / Act as reservoir for molten metal
(¢) ™ TR SHIEST % WUT § WAl ST / Help feed the casting until solidification takes place
(d) =@ N2 fuch a1g 1 WO FE / Feed molten metal from pouring base to gate

10.  3IfFE 5,000 5. IUT ST 2 3 36 &7 H 500 T. N Fel A FiEq 10 forwal § 09 FE T FGAD gl
2 Rl v frca fioel frea @ 10 & 0 81 A Tgelt oiR sifw forea foraet 0t ?

Abhinav borrows Rs. 5000/- and agrees to repay with total interest of Rs. 500 in 10 installments,
each installment being less than the preceding installment by Rs. 10/-. What should be the first
and the last installment respectively?

(a) 505, 415 (b) 500, 410
() 525,435 (d) 300, 210
11.  gedt i gag W Ieiem 9 2l
The escape velocity on the surface of the earth is
(a) 1 km/sec (b) 3.6 km/sec
() 8.8 km/sec (d 11.2 km/sec
12.  wft feamett & o yeame ToT 819 e v Fgard gl
Materials having same elastic properties in all directions are called
(a)  amest uerd / Ideal materials (b) w9 gerd / Uniform materials
()  Tmefes uerd / Isotropic materials (d) g 9t / Orthotropic materials

TA-01 5 March 2020




s HUMAN SPACE FLIGHT CENTRE SET
Fwdl \isFa

TECHNICAL ASSISTANT - MECHANICAL C

13.

14.

15.

16.

TA-01 6 March 2020

W@ﬁﬁ@%g@ﬂﬁ%mﬁ@ﬁ%ﬁ%ﬁﬁwm@'mﬁwﬁ%ﬁw%?

Octane number is determined by comparing the performance of the petrol with which of the
following hydrocarbon(s):

(a) ®H-FA / Iso-octane
(b)  =mew fremsa dudelm / Alpha methyl naphthalene
(0  wW-3EA ©d gm=I g i 0 / Mixture of iso-octane and normal heptane

(d) et @ wifesa = fasor / Mixture of paraffin and aromatics

o fie # ferom o wivfierar @ aReda & wiody @ e FHEard!

The tendency of a body to resist change from rest or motion is known as
(a) =N /Friction (b) /& /Inertia

(c) go@dH / Mass () it @ / Resisting force

a@mmqﬂmmﬁ%%qﬁm%ﬁaﬁﬁﬁﬁmﬁﬁxmmﬁﬁmmm?
Which of the following methods is not used for testing straightness?
(2) foufie waw & / Spirit level method

(b) =afeeRt fafY / Interference method
(c) @@ Tmiaie / Autocollimator
() fm gaf= / Beam comparator

Prerferfioa § @ 1 qOTia 1 32X a8 7
Which of the following is not the objective of annealing?
(a)  =TiEs Sfaerel st fFreR@ET / Remove internal stresses

(b) 3 % 3R K wfeATRSIG HT / Refine grain size
(¢) =T %l Ul / Refine structure

(d)  wffi-gwar st garAr / Improve machinability
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18.

19.

20.

AR €8 T A 1.5 x 10° mm?® 81 3 x, y o z fewmati & wioser swsn: 100 Mpa, 150 Mpa
31 160 Mpa @ @t 3Taaq § =i uftEd= &l (SEf ae Aiged K = 2 x 10° N/mm? and dfae 31amd

u=0.3)

A rectangular bar has a volume of 1.5 x 10° mm?® What is the change in volume, if stresses in x,
y and z direction are 100 Mpa, 150 Mpa and 160 Mpa respectively. (Assume Bulk Modulus
K =2 x 10° N/mm? and Poisson’s ratio p = 0.3)

(a) 2000 mm?® (b) 1500 mm?® () 1230 mm® (d) 1000 mm?®

afe gfeem (Poisson) % 3T4Td 1 W Y @ d g0 ot & fh
If the value of Poisson's ratio is zero, then it means that
(a) Ugd gg 7 / the material is rigid

(b)  uered gufa: wfeesk & / the material is perfectly plastic
(¢ U # o fafa 7 B / there is no longitudinal strain in the material
(d) ¥ & I3 781 / None of the above

T IR I aTdd Yeidiersh (helefar) sfin Smeht semg L 7 ot smwt ggar El 8, & w ufa gfie
TS T SeAtel WK @ g9 §9 F Wit foran men 31 ofiw @ orftreray Seafer fagn —— R

A cantilever beam of length L with uniform cross-section and flexural rigidity, El, is loaded
uniformly by a vertical load, w per unit length. The maximum vertical deflection of the beam is
given by

(a) wL%8El (b) wL¥4El () wLY16El (d) wL*24El

ITIEY IG-WI qT YT SRR SIIEY FIE & ofH 1 9697 ot foaqwor smg —— 21

Shear stress distribution diagram of a beam of rectangular cross-section, subjected to transverse
loading is given by

(@ 4 (b)
d d
/
d

(c) (d)

TA-01 7 March 2020
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91 R fvar areh Mamr foes v an % @i far iR 0w @t 21 gufe e R § P fag W A v aform
e

A circular disc of Radius R rolls without slipping at a velocity v. the magnitude of the velocity at
point P as shown in fig is

@ +3v ® 3 (v/2)
© (/2 @ (2v/43)
922. i 9 | 3TuuTSieh arg 1 31— 2|

Scavenging air in diesel engine means

(a) Tuferst =i shafera @ ¥g yafora 9y / Forced air for cooling cylinder
(b) <& % IRl I &Y a1g / Burnt air containing products of combustion
(©) feepTe 1 or@Ry & S, oW o FRTet & o Aw i aergeh el e 3 ST R T A1Y

/ Air used for forcing burnt gases out of engine’s cylinder during the exhaust period
(d) <= ¥ g7 ¥q 39N it T8 Iy / Air used for combustion under pressure

23. W % TqH qINE W, A § seens e BAT, 1 FRa. w@ % e 7y st s
FHEd! gl

The amount of heat absorbed to evaporate 1 kg of water from its saturation temperature, without
change of temperature, is called as

(a) T s wa= ST / Sensible heat of water

(b)  arfieRtor i W FeAT / Latent heat of vaporisation
(¢) a7 it Tt (qoi-Iwan) / Enthalpy of steam
(d) 9 hi T2t / Entropy of steam

TA-01 8 March 2020
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o

24.

25.

26.

geh-l g1l 3 Ty A L qen gE o A U T sl @ 3w d g wal I g

Match List-l with List-Il and select the correct answer using the codes given below the lists

List-l List-ll
(A) it wH me:mical work equation 1. FerIfi A / Clausius-Clapeyron
(B) [dQ/t <0 2. firesa @fistor / Gibb’s equation
(C) =y =M/ Zeroth Law 3. 3= vt St / High Grade energy
(D) H-Ts 4. 99 <t TeRed 1 / Concept of temperature
A B C D
(a) 1 3 2 4
(b) 3 1 2 4
(c) 4 2 3 1
@ 3 1 4 2
log{ij % WM I qal e
343
Calculate the value of log{?is}
(@) -3 (d) 7 () -7 (d ©
HfcaT-cetieh o axhed o IER, VHT IR w1 Fmio e smva 7, S FEAT AN HA
I T W B

According to Kelvin-Planck statement, it is impossible to construct a device operating on a cycle
which transfers heat from

(a) I= AUEM % FoAT WeR H f= amwE Wer % / High temperature heat reservoir to low
temperature reservoir

(b) I T@ A S ¥R W 7= @ It S HeW d& / High pressure heat reservoir to low
pressure heat reservoir

(¢ =1 g@ et o1 Wel ¥ 3= o 9 ST WeR as / Low pressure heat reservoir to high
pressure heat reservoir

() 9= qUEE % ST YR ¥ 3= d19H™ S5 YR 9% / Low temperature heat reservoir to high

temperature heat reservoir

TA-01 9 March 2020
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97, ufe & 7 Apwm (sreyg) Mg @ @ “a” w1 AW A1 B

Find the values of “a”, if the given matrix is singular

a -1 -3
3 2 B8
2 1 2
(a -3 (b) +3
() +2 d -3/2
28. aﬁﬁﬁﬁ,wm(gﬁﬁ)ﬁ@ﬁﬁwﬁ%a’rﬁ?ﬁasﬁ& & W 8l
In a centrifugal pump, when the impeller speed is doubled, head developed becomes
(a) 1.414 71 /times (b) 1571 /times
(c) 27HT /times (d) 47 /times
|
|
29.  HE a9 I FHI

Select the correct statement:

(a) T%cd 9 S HAE a1 9 I e 1 TE Fweardt @ / Weber's number is the ratio of
gravity force to surface tension force

(b) iScd 9 3R Tag a4 e 1 I e it T FEemd @ / Weber's number is the ratio of
inertia force to surface tension force

© Y= oo R g S 1 Agard del <Al g@ FEart @/ Weber's number is the ratio of
viscous force to pressure force

(d) STEca e 3 Taa! Jedrey s o A Yot Y g FEaTdt @ / Weber's number is the ratio

of inertia force to surface elastic force

30. T Y 3 it IoeR W O fm fra 3wk ve I i sk fhedt 27
In simultaneous throw of two coins, the probability of getting one head and one tail is
(a) 1/4 b 1/3
() 112 (d) 2/3

TA-01 10 March 2020
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Feforft s (e &) # D = areht Fecht it N giear 8 ot gul fBm St vgelt % v weref &
s 7, o N/2 et €, R Secft o1 s 2D 21 At wom S it givar k @ o gudt i i gl
————— =

A helical spring has N turns of coil of diameter D, and a second spring made of same material,
has N/2 turns of coil of diameter 2D. If the stiffness of the first spring is k, then the stiffness of the
second spring is given by

(a) 4k (b) 2k () ki/4 (d) k/8

32. - I guii o M 9r yorelt & s i gt N R afe o o Ut & wm 6 s e | S
& g, S8 fom- 11 8 femn w2, o sngfa et ?
For the spring mass system shown in the Figure |, the frequency of vibration is N. What will be
the frequency when one more similar spring is added in series as shown in Figure II?

k
k
k
x | m o ¢x
Fig. 1 Fig. 11
(@) N/+2 (b) 2N © N2 @ N

33, Ry i quiy v HER, Ui FRER g Aty are o aaae SrEel S e @ fah (e o
frem) N wem ——— g/

The number of degrees of freedom of a five link plane mechanism with five revolute pairs as
shown in the figure is

(@ O (b) 2 (@ 7 d 22

TA-01 11 March 2020
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34. ﬁaﬁﬁqw‘q%@a(‘aW)amm'm'%aﬁgﬁmmkmeﬁ%ﬁ%m%,ém%%aﬁﬁ@mwﬁ
foees T R Twaea T W AT ST 31 §9 WO & S i e i 2l

A disc of mass ‘m' is attached to a spring of stiffness k as shown in the figure. The disc rolls without
slipping on a horizontal surface. The natural frequency of vibration of the system is given by

VIl g eiededs

PrPIPIP IV ddd et d ddd S S

@ 0 — =

1 1 [2k
2r \m

1 L [k
27 \3m

Q 2m

() (d)

27\ m

35 fyefias Yhe § @ feg w0 arafed gatg el wefisn @) 87

The steady flow energy equation is applied to which of the following processes?

(a)  UTEY e yaTE / Pipe line flows (b) FoHT 3Aawor Wl / Heat transfer process
(¢) @& ufsRar / Combustion process (d) 3IWH @t / All of the above

36. ?Slﬁ\4x—7|=5?ﬁ2|xlf|—x|aﬂmw%?

If|4x—7\:5,thenthevalueof 21x|4|—x| is,
1 1 2 1 2
(a) 255 (b) -2*,3 (c) 5’5 (d) 5:3
37. oTeed fram % IR, Tl & e i Fe 7 % " 2

According to Dalton’s law, the total pressure of the mixture of gases is equal to
(a) =t % 37k g @ A / Greater of the partial pressures of all

(b) @t % srifirs g o1 3fEa / Average of the partial pressures of all
() @t % o1ifirk g 1 A / Sum of the partial pressures of all
(d) oft ¥ orifE @@ % a9 o siaa fgew onfoas ¥R @ fRT TE WM/ Sum of the partial

pressures of all divided by average molecular weight

TA-01 12 March 2020
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38. wiem | ©d Il Y #E =1 A HL

Match the items in column | and Il

Hiad / Column | Hied / Column |l
P. =t qdegor / Charpy Test 1. e / Fluidity
Q. 9 wi&or / Knoop test 2. geg-saial /Microhardness
R. TaTstet qiigwr / Spiral test 3.  fe=rfiaar / Formability
S. =T gier / Cupping Test 4.  7gar/ Toughness

5. 9Tl / Permeability

P Q R S
(a) 4 5 3 2
® 3 5 1 4
(c) 2 4 3 5
@ 4 2 1 3
39.  afe uk RE Fe-C fisreng # e 1 =11 0.83% & %9 & d1 8 g gl

If a particular Fe-C alloy contains less than 0.83% carbon, it is called

(a) = i sEa@ / High speed steel
(b) ¥4 goaeiss T¥9@ / Hypo-eutectoid steel
(c) fa-geren & / Hyper-eutectoid steel
(d) gedt @@ / Castiron
40. fmfeq fis = 9e g, S w53 1 afomd 2@ s  H ERIGI

The point in the immersed body through which the resultant pressure of the liquid may be taken
to act is known as

()
(b)
(c)
(d)

TA-01

a7 e / Metacentre
@1 %e / Centre of pressure
IeceTraehdl shg / Centre of buoyancy

Teed %hg / Centre of gravity

13 March 2020
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41.

42.

43.

44.

TA-01

w.3ms.(SI) e § ygnfas vamar i s 2l

Unit of kinematic viscosity in Sl units is
(a) Ns/m (b) Ns/m?
() m’sec (d) Nsm

=l F w R @ my H TR m, % AR arelt a5 Hi 09 Y et gag W gE g, e fE oA
Zutan T &1 Af A W m, % AR R AR e S A A s sg e %ma{{m
T g ?

A mass m;, hanging at the end of a string moves a mass m; along the surface of a smooth table
as shown in fig. If mass m; on the table is doubled, tension in the string is increased by one-half.

Find the ratio of Ay
my

(a) 2 ) 1 () 172 d 4

@S 600 KW T IedTe shiar & i WAl &mar 40% & at Fraw foga Bl
The output of a turbine is 600 kW and efficiency is 40%. The input power is

(a) 1200 kW (b) 1500 kW

() 1800 kW (d 2100 kW

w a4 80.5° € 3 70° & 90° Y A I F IfEiHA T H -0.25° FH AR 7| W ATHH
T 87

A thermometer reads 80.5°C and the correction from calibration curve is -0.25°C in the
measurement range 70°C to 90°C. What is the true value of the temperature?

(a) 80.75°C (b) 80.50°C
(c) 80.25°C (d) 89.75°C

14 March 2020
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45.

46.

47.

48.

afe 3/32 = 2 d x % WA 1 gar @md
Find the value of x, if%/3_=2"'
(a) x=3/5 (b) x=5/3 (¢ x=2/3 d x=1/2

o # quie o orgaEn, w fuftret, Rt feen ¢ 2 3T IR ‘'m’ 8, % IR R T AR 5w g afe et
I AR B q G I At h 9% A g IR FA F qve, fforst oA |

A cord is wrapped around a cylinder of radius ‘r' and mass ‘m’ as shown in the figure. If the
cylinder is released from rest, the velocity of the cylinder, after it has moved through a distance
‘h’ will be

(@ (gh)"? (b) (ghs3)" (© (4gh/3)"? d (2gh)"

e & famerar =1 fugia fFeafafigs & @ fora yor = werd % o 3ugw &7
Guest's Theory of failure is applicable to which of the following type of material?
(@) @ /Ductile (b) W / Brittle

(c) Y=Y / Elastic (d) v / Plastic

o o gl U e, 1 m ot @ wek 5 R wR e arg % O § 0.5 R, WR areft meft
arft St ¥1 et @ ST 320 cm ST 33 ST 81 S @ arelt melt i fa & qft
(& g =10 m/sec?)

A bullet weighing 0.5 kg was fired horizontally into a sand bag weighing 5 kg suspended on a
rope of 1 m long as shown in fig. It was found that the bag with the bullet embedded in it
swung to a height of 320 cm. The speed of the bullet as it entered the bag is

(Take g = 10 m/sec?)

(a) 88 m/sec (b) 44 m/sec () 176 m/sec (d) 22 m/sec

TA-01 15 March 2020
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49. T 1 feoteT AW SFTiAHad i SIH H W h ey ———— B
The objective(s) of considering ergonomics in machine design is/are to
1. ifqs gfdee St B2 & & / Decrease physical stresses
2. YRR I 99 SRS S9H (¢ / Make the user adapt to the machine
3. T S YA % 3T e S % T / Make machine fit to the user
4.  3cre f feamee = gura % AT/ Improve appearance of the product
(@) HaIa2 /only?2 (b) 3w 4 /3and4
(¢ 1w 3 /1and3 (d 1,34 /1,3and4
50. 99 % Sigcd Il 3 Hf 35 F A T T G0H &ABA et a1 Hl I ——— Bl 2
Ratio of moment of inertia of a circle and that of a square having same area about the centroidal
axis is given by
5 3
(a) E (b) o
4 3
() — @ =
T /4
51. ARG 3<X<53M8s<Y <11 Ffrfaa foehed # & = el 87
If3=X=5and8=<Y = 11, then which of the following options is true
3 X 8 3 X b
— & — < < =
(@) 5 : Y = (b) 11 Y 8
(C) ig£g§ (d) §££££
11 Y 5 5 Y 11
52. W& Ugel U Wfdgl /A ht a9 § rrfeesh faed qoh fashd foRan St @ a9 s Wi wiaed wfted |
T ST 3 3R faetiva: off 95 oer B s 98 SagR ——— Fgand &l
When a specimen is first plastically strained in tension, its yield stress in compression is reduced
and vice versa. This behaviour is known as
(a)  fSTR yw= / Bauschinger effect (b) warEl gTE / Poisson’s effect
(c) = g / Work hardening (d) it g3 Wi / Stress recovery
TA-01 16 March 2020
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53.

54.

55.

56.

=rerdt g% forde o U safh & et 9o W ARG h ——— F G1Y A A 0T Il ao °
FH e 3| |

The apparent weight of a man in moving lift is less than his real weight when he is going down
with

(a) W Wi / Uniform speed (b) RO / An acceleration

(¢) s @am / Some linear momentum  (d) Wed / Retardation

e e 8, — = o @1 9REw & = fafa R s g 2
In an isolated system ——————— can be transferred between the system and the surroundings:

(a) & WR 3T Il / Neither mass nor energy
(b) W 3 =1 gl / Both mass and energy

() e ¥R / Only mass

(d) a1 / Only energy

2N 9T T TF srh 1 m h S9E ° Ok B % W % S R 31 afg 3w am s ferm w e /g
I8 8 0.1 m o gdifed g wran & & & 1 fedres —— =l

A block of weight 2N falls from a height of 1 m on the top of a spring. If the spring gets
compressed by 0.1 m to bring the weight momentarily to rest, then the spring constant would be:

(a) 50 N/m (b) 100 N/m (c) 200 N/m (d) 400 N/m

afe Wi & shror T g e TR fit B g & Sl R A I e 2 S|
If the radius of wire stretched by a load is doubled, then its Young’s module will

(a) g / Double

(b)  3TwIfed @M / Remain unaffected

(c) <RI § Smwm / Become four times

(d) TH-=UTs & ST / Become one-fourth
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57. ke Y T F TegoT fagid W e &

The motion of rocket is based on the principle of conservation of

(a) If&e @am / Linear momentum (b) I AT / Angular momentum
(c) T =1t / Kinetic energy (d) T=uE /Mass

58. CPM gl
CPMis
(a) EHAFgE! e / Time oriented technique

(b)  ETI-3I@ TR / Event oriented technique
(c) HE-g@ TS / Activity oriented technique
(d) TEIgE T / Target oriented technique

59. e % SHSREIGh fIOW % oTER, UH.aME. (Sl) gfe # Suhl wIwar (HB) T T wwed (TS) # weier @
:

As a rule of thumb for most steels, the hardness (HB) & tensile strength (TS), in Sl units, is
correlated as

@ TS=3.45xHB ®) TS =500xHB
© TS=225xHB @ TS =475xHB

60. fiu mu fix # witefora vew o wh g W e it feufa gag 78 81 S, ox = 200 MPa, oy = 100
MPa , Txy = 100 MPa 319&q01 Ufderet 1 3Afererad 71 B

The state of stress at a point in a stressed element is shown in the figure. Given that ,
ox = 200 MPa , oy = 100 MPa , txy = 100 MPa, the value of maximum shear stress will be,

[
e

<T

Oy

(a) 2545 MPa (b) 50+/5 Mpa
(© 100+4/5 MPa (d 2005 MPa
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5. muff aEqfis weER F wsil & e of g wd I % o 9 o7, IW A o W I AR e W O uew 39
srer s | R wa & e e | 2rferes 3w 341 Terd I AET S|

All objective type questions carry equal marks of THREE for a correct answer, ZERO for no answer and

MINUS ONE for wrong answer. Multiple answers for a question will be regarded as a wrong answer.

6. wx gftae ) @it o I & R w A 71 B @1 € @1 D fafea fer mn 2, 5@ oftom.am. ofie w, o #
R qen e FT ANad B A T FH W, STL-EIRT T qodieh Tal {shdl el

Question booklets have been marked with A or B or € or D on the right hand top corner, which is mandatory
to be written on the OMR sheet in the box and bubble appropriately, failing which, the answer sheet will not

be evaluated.

7. yfGrR § 3uced SR i ATEvaehdl % STIER Fe HM & fTQ Iua R S wehan 21 orer 9 wfie @ & s

|
Space available in the booklet could be used for rough work, if required. No separate sheet will be provided.

8. 3Ty s W weer w0 & eat, whemeff it sufeafy shie w gfeer e foramn g wdeneff =6t arqa 9m % @A
& FEE A E

Before signing the attendance sheet, the candidate should write the Booklet Code in the attendance sheet.

Candidates should sign against THEIR names only.

9. ulen ¥ ofq # (1) B R fafed wen F wia e (2) 46 LR, IR e Frlgs #t amm S qu
fepeft oft wfifedfa 4 ereaeff 5@ 9 @ 9y

At the end of the test (1) Written test Call Letters(s) with photograph pasted on it (2) Original OMR Answer

Sheet shall be returned to the Invigilator and shall not be carried by the candidate under any circumstances.
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